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1 S *kokk skokok *kokk *okok
2 & fokok Hokok fokok Hokok
3 T KoKk *okok kK *okok
4 A kekok kekok *kekok kekok
5 A KoKk *okok kK *okok
6 X 158 155 1,350 1,625
7 7K 158 155 1,434 1,612
8 PN 158 155 1,584 1,655
9 & 159 155 1,539 1,582
10 T 158 156 1,522 1,563
11 =] 159 156 1,524 1,557
12 A 162 156 1,438 1,534
13 X 160 155 1,381 1,603
14 7K 160 156 1,607 1,634
15 N 160 156 1,467 1,583
16 i 159 156 1,439 1,585
17 T 159 156 1,601 1,647
18 H 161 156 1,600 1,659
19 A 159 156 1,562 1,618
20 P 160 156 1,506 1,570
21 7K 160 155 1,356 1,416
22 PN 158 152 1,351 1,434
23 % skekok skokok *kokk *okok
24 T *okk *okk *okk *okk
25 A *kokok kokok *kokok *okok
26 A *okok *okok *okok *okok
27 X 160 156 1,418 1,540
28 7K 159 155 1,484 1,590
29 N 159 156 1,592 1,623
30 & 160 156 1,566 1,625
31 T 160 156 1,409 1,552

A¥E - 155 - 1,582
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